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(D)384 cm? @ 270cm?
@ 256 cm? ® 186 cm?

® 289 cm?

FlollA 2 2F)=(EHl)
HoA 2 BF)=(FH)

— o~ —

=72+ 312
= 384(cm?)

ZAYo]) = (6x6)x2+ (6+6+6+6)x13
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® 240 cm? @ 300 cm? @ 360 cm?
@ 420 cm? (@)480 cm?

S5 ~
(FlollA & 2eh)=(Z4Hol)

(oA 2 2eF)=(FH)
ZAylo)= (8 x8)x2+

= 128 + 352

= 480( cm?)
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N -
~20cm-

@ 8cm (@)QCm @ 1llem @ 12cm ® 13cm

B

(F4ol) = (BHlol) - (BHol) x2
= 2100 — (20 x 30) x 2
= 2100 - 1200 = 900( cm?)
(F4ol) = (28] =) x (¥°)
(&°]) = (F4ol) + (™ =2)
= 900 = (20 + 30 + 20 + 30)
=900 + 100 = 9(cm)
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@ 20em @ 19cm @ISCIn @ 17cm @ 16cm

B ~

(BsAe] ZEol) = (2 e wol) x6

1944 = (3t A <] Yo]) x6

(3 A Hol)= 1944 + 6 = 324( cm?)
A5AA 6719 W2 5 Ao

A5AA| o) o BA2|9) DolE | Jem 2} 5HH

[ Ix[ ]=324,[ ]=18(cm)
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@ 54 :108 @9:11

B

@] Wol= (12 x 9) + 2 = 54(cm?)
@] HWol= (8 x9) - (3 x 2) = 66( cm?)
<] Hole tigt @2 weole] H|
—>54:66=9:11




12. 7I2 15cm, A2 20cm ¢ AAASE S 7125 5em 0], A|25
tem SGAUT A2 BE AAZE ] Yol A Azl

Wolol & % du7t?

® 90% @ 88% ® 86.5%
@ 83% ®)80%

$15-5=10(cm)
12044 =24(cm)

(M= THE HARFR 9] Hol)= 10 x 24 = 240( cm?)
(A= A 9] "ol)= 15 x 20 = 300( cm?)
240




